0

wwoog 00942 O

MSLLL
87X 02

VINEZOVNZO

eyrufozig xerwim 1 dA 1,
Mopomdzid ad1upaIg

101m0d - “0°9 1foefesul Apomozig
QIUE[ISEZ - "0°0 1[or[RISUT APOMIZI]

NMNNSAY VMZVN
“HZAMVids
TAVMOLMArodd
VrOVZITVIOT
*LVINTL

BYZSKJN BUOM] “ZUT
eyzsAIN fozIpd( “zut

SS—"  VINMOOVid

vIND?7d

‘NIINMVHdN 4N

zsndi7 "wb ‘zsndi ‘Ge01 JU “Zp

MANYVYZOd AZVYLS raZOINLOHOO NMNAANE

‘NIINMVHdN ¥N
AMOANg3Zyd | AMOANEAVN ‘AMOANGZOY LY3Aro¥d

60/SO0d/St00/INOd
L0/SO0d/0¥00/INOd

VZSvddod 1NZd ‘OO VIOVITV.LSNI

T BUPOM'IN BUAZIBIISO) :0JNIg 656 TTS 609 123 BYZSAN fazipdrzu)

‘S1daod
VAOLMArodd

S
IN "SAY

120T
‘viva

oaidry
VIVIS

S
001:1

©

Y I K I e O E 2 3
© R4l L N | 325D
N [72:);:&]2 /600 —f720 dz /600 g g ('ND .'1
n=-—"-=-"~-=-~-=-=-= e A Q 2.
=| . = =858
[ } ] N foe) K - D, »
1/ 28 518 e
P @ 3
/7200 i ((w) o) 3=
\ \ - ) \ | -
(048 ) | 20x2,8 N2 \\8
\_/160( 60) \IK 2779 W
1 1
.Di \
= \ m m
‘Y o % %
E |
Al CD CD
gl % = =
E,L 2| ‘ < <
11/ o) —
%)
_ —_ —
2000 ! Vs 9. 5
(048) 1B o o)
%) 1 180 TN = 3
__160( 60)1 (31 o .
o \ ) =
;q 145 75 )\ )
9 S
i : :
Q
51 o ®
d S N —
E L N ?o: =
Tt g g I
E 1 3 -
/200 ‘ A > 3 180
(04 > En | + ( 3 >
N
\__/160(60)] | | 8 145 75)\__/
S\ S
Fa 1) !
<.
& .
Ch 13 (43 P
] Q 180 TN
b ‘\‘\‘\‘\‘\‘\‘\‘\‘\‘D“\‘\3‘1‘\‘\]‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\
//7\ 200 o ‘\‘T{\L‘lb{‘\‘m"'_\‘l{\‘\‘\‘\‘\‘/\1\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\
(048 ) B D e e B e e A B e W S Sl S A A A I
‘\\ / f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘
—/160(60) || | > L L L s
©
& AR S LA
>3] O [T T T T Y T T T T Y T T T T Y T T T T A T T T TP T T T T T T T T T T T T T T T T T T T T
f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f"t‘f‘f‘f‘f‘f‘L‘I‘J‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘f‘ - -
\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘L\)g\‘\‘\‘VW\T\W\T\\‘\I‘\‘\‘\‘\‘\‘\‘\‘\‘\‘ //\\ //\\
a \‘\H‘dh‘\‘\‘\‘\‘\‘)JT‘!J‘\L‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘(\‘\‘\;‘L‘\‘\‘\\“\‘\‘\‘\‘\‘\‘\‘\‘\‘ “/ @ \\ “/ @ \“
9 TN T T T T T AT T TN T T T T T T T T T T T T T T NI T FE T DT T T T T T TTTT \ - ) \ -
\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘ﬂ‘\‘A\M‘\‘1‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘V\‘\\d‘\‘\V\‘/\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘ \\ / \\ /
T T LT L L TP T T T T Y T T T T T T T T T TR TTERT TITTITTT N N
g . T ATAE A N T T T T P T T T T T T T T T T T T T T T TR TIT T T T TTTTTTT N (o] N (]
= N (T TAA L OO T T LA T T T T T T T T T T T T T T T TR T T T ERT T T TTTTTT
& K ‘\‘\‘\‘W‘T‘Y‘\‘\‘—\‘4‘\‘VT?"T‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘L’(l_n'\‘\ ‘\‘W\‘\‘\‘\‘\‘\‘\‘\‘\‘ 5-_’1 © /g o
% \‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘&\‘ ‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘ [oe] [o¢]
g 7‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\F\“H‘\ \‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\l (&)1 [4)] ~
QO \-I 'S 3 Q . M\ LI T T I T TT I T I TTTIT I TTTIT]TT] \“ i S —— ‘_“\ [ LIND {4*“ {4*\‘/ g
3 S |1 N o= G -
s KN N x 2% 3 S R L B
. ] | 8 '3 % RS [1400 mm] 22KV/60( : 600 mm] 2?'/500 600 mm] 2?’/&00
=) | o et = - I\
] S o T
3 ] DX \
< < &>
| N N 2N 180
N .
Y - _ \ :
[ ™ | s /[0
S 5 /

} wytaz z IS S N a [ i \
Vs \\200 ! drabing N = N ® N ]
(049 ) = b % g
\__/250( 30) ! o o % > 3 I =

}\ N s S ‘ Eg = balu a wys. 110cm 3

] . N [ o = o

A 52 ke 3N~ . - ;

1/ ER 1S £ N b

/ n D ° N b

200 ! &= N S 8

: - =
(049 ) = | ISAESS o = 3 5
\__/250( 30) | N N © Ne

) i SN 5. |

\ h [0] =] \
4 Rz 28s - @ N 80
/ | o = = o)

/ 9:\, = ®© 5 = = Q.
» ' A< = SS_ 2300 0)
8‘ | N AN o N = /
s 4 T ©FE S [
7] s D+ 3 Q ¥
= s N N
g 31°16x2,2 s 2.
5 1656 W °
g | I8
K I [ ) ‘ )
: - g — . — B @
o ‘D - = = 21Kv.£n 600 mm] 22 ZZEIiEOO [720 mm]
= \ 1600 mm] 4
3 e T N (ke AN L N 1 [
B i L 2 X
- \ = = = g
8 313 ~N N ~N N ~N N
a3 @ o @ o @ o
- ~ ~ ~
o a1 gl ol
Z L
7o\ 7o\ o o
( Q) () =y ()
L © )/ N N =/
N — — —




